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KFUPM - Department of Mathematics & Statistics
MATH102 - Term 172
Quiz 4B (Duration: 25 Minutes)

Name: Solukion D #: _ Section #:

Q1: (3 points) Evaluate

<
C
I-fcot5esin49d9 = fﬂﬁi ﬁ-ﬁ'

Hm u=Sm & Sin ®
bz csode = jg_f“’; ) cose g,
p— L1a] ) m *c’
:5(\—%._)« du ((‘,_2u+u>¢l,u-\w|“| W -
A4

.Pl'r“\ '9 24 C

= lnlgmal = Sm78 ¥

Q2: (3.5 points) Evaluate
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Q3: (3.5 points) Evaluate the integral
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KFUPM - Department of Mathematics & Statistics
MATH102 - Term 172
Quiz 4A (Duration: 25 Minutes)

Solutiov

Name: ID #: Section #:
Q1: (3 points) Evaluate
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Q2: (3.5 points) Evaluate
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Q3: (3.5 points) Evaluate the integral
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